MA322-007 Jan 27 quiz Name:

1.4.1 (HW1.44#25) Find scalars ¢, ¢y, and c3 such that

-7 4 -3 1
—3 = C1 5 + Co —2 —f- C3 5
10 —6 2 -3
0 3 =5
1.4.2 (HW1.4#413) Isu = | 4 | in the plane spanned by the columnsof A= | =2 6 |?
4 1 1
Why or why not?
1.5.1 Write the solutions to AX = b in parametric form, X = X, + sX; + tXy + .... Here
1 00 40 . 7
A=]10 1 5 6 0| andb=| 8 |.
00001 9
1 4 9
1.5.2 Write a vector equation of the plane that passes through | 2 |, | 4 |, and | 8
3 5 7

Remember Thursday Jan 29 is the first exam!



